31735

Operaciones combinadas con naturales

Apellidos:

Nombre:

Realizar las siguientes operaciones combinadas:

1. 14:2-12:3+6-7=

2. 4-2+9-8-6-3+7=

3. 8-(9-5+11)-3-6-10: (4+7-6)=

4, 3+5)-4-6:(9-6)+5-4=

5. 4+7-8-14:2-20+12=

6. 12-(3+16-9)—-(27-5-10):4 =

7. 8—-7+5-(12:4+3-2)-45=

8. 14-32:8-10:-(9:3-12:6) =

9. 1+2+3+4+5)-10-10-(10-9+8-7+6)=

10.[20-(15-7-2+6-3)] - [(16 +3-2-10) : (5-3)] =
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Apellidos:

Nombre:

Realizar las siguientes operaciones combinadas:
1. 14:2-12:3+6-7= F — 4 + 42 =45

2. 4-2+9:8-63+71= 4 -2+ 32 -4+ F =GS

3. 8-:9-5+11)-3-6-10:(4+7-6)= §+:15 - 36 — 10:5 =
=120 - 18 — 2 =10_9‘

4. 3+5)-4-6:(9-6)+5-4= B4 -6 :2 + 54 =
=32 - 2 + 20 = 50

5 4+7-8-14:2-20+12=4+ 5 -~ F -2+ 412 = 4

———

6. 12:3+16-9)-(27-5-10):4= 12+ 10 — 12 2 4 =
= 120 - J = AN F

7. 8-7+5-(12:4+3-2)-45= @ -~ F4+5.(3 +£) — 45 =
=8 -+ +5-9-45 = ¥ - :)'4"‘!5-‘!5:’3_’

8. 14-32:8-10-(9:3-12:6)=14~ 32:8 —40- (2 - 2)=
=44~32:8-10*4 =44 -4 _ 40 =0

9. (1+2+3+4+5)-10-10-(10-9+8-7+6)=15 .40 - 10:% =
= 450 — §0 = 10
b — 3

10.20 - (15-7-2+6-3)] - [(16+3-2-10): (5-3)] = (20-49) - (12:2) =
= 4:C = G

—
a—
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